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Question Number : 1 Question Id : 864351181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For an electromagnetic wave travelling in free space, the relation between average energy
densities due to electric (U,) and magnetic (U, ) fields is :
Options :
I =1
864351541. * m

Bl =275
864351542, ¢ m

T =11
IJE L!.'I'I

864351543.

1< 1T
864351544, © -

Question Number : 1 Question Id : 864351181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 864351182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of
nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas
constant. The pressure of the mixture of gases is :

Options :

RT

ra|

864351545.



864351546, V

864351547, Vv

88RT
864351548, V

Question Number : 2 Question Id : 864351182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 864351183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For changing the capacitance of a given parallel plate capacitor, a dielectric material of

dielectric constant K is used, which has the same area as the plates of the capacitor. The

thickness of the dielectric slab is %d , where “d’ is the separation between the plates of parallel
plate capacitor. The new capacitance (C') in terms of original capacitance ((,) is given by

the fcr]lowing relation :

Options :
o= & o
864351549, K+3
e o
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864351550.
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Question Number : 3 Question Id : 864351183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 864351184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vclc}cit}r-djspiacement graph descn’bﬂ‘ng the motion of a biq,-’dc- is shown in the [ igure.
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The acceleration-displacement graph of the bicycle’s molion is best described by :
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Question Number : 4 Question Id : 864351184 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 5 Question Id : 864351185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to it at an angle
B as shown in figure. The coefficient of kinetic friction is py. Then, the block’s acceleration
‘a’ is given by :

(g is acceleration due to gravity)

Options :
F F
—cosb }_I.K{ g IBJ
864351557. M L
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Question Number : 5 Question Id : 864351185 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 864351186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B, =04 G, the magnetic moment of the magnet is (1 G=10"1T)

Options :

1
864351561, 2580 ] T

2 1
864351562, 2880X10°J T

1
864351563. 280 1T
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864351564, 2000107 J T

Question Number : 6 Question Id : 864351186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

14cmOVTRT TOBTOIFROTW, BTWT YOIT PR GFPNRReST Y30 THRT EN deethaod
TRONT. TOTFOIT FOTHOT 18 cmTRTDY JWF WO, TFRoNT. By=0.4G
$T0, BORTOIT ToSeaH WWIIF) (1 G=10"*T):

Options :



e =1
864351561, 28-80 ] 1

'j S 2 . I
864351562, =080 X 107 1

& 1
864351563, 2580 ] T

864351564, 2880 %107 J T

Question Number : 7 Question Id : 864351187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angle of deviation through a prism is minimum when

(A) Incident ray and emergent ray are symmetric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D) When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :
Options :

264351565, Only statements (A) and (B) are true

864351566. Statements (A), (B) and (C) are true

264351567, Only statement (D) is true

864351568 Statements (B) and (C) are true

Question Number : 7 Question Id : 864351187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 864351188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An RC circuit as shown in the figure is driven by a AC source generating a square wave. The

output wave pattern monitored b}? CRO would look close to :
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Question Number : 8 Question Id : 864351188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 864351189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal
force by the side walls of the groove is :

Options :

864351573, 0-0314 N

864351574, 9-859x10~ 4 N

3 3
864351575, 028X 107" N

864351576, 9-859x107 = N

Question Number : 9 Question Id : 864351189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 864351190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :
Options :
864351577, Foint functions

864351578. Path functions



864351579, ntensive thermodynamic state variables

R64351580. Extensive thermodynamic state variables

Question Number : 10 Question Id : 864351190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 864351191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 x10'? m and
8.0 101 m respectively. If the speed of the comet at the nearest point is 6% 10* ms 1, the
speed at the farthest point is :

Options :

3
864351581, 2107 m/s

3.0x10° m/s
864351582.

864351583, 0-0x 107 m/s

i 3
864351584, +2 X 10" m/s

Question Number : 11 Question Id : 864351191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 864351192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four equal masses, m each are placed at the corners of a square of length () as shown in the

figure. The moment of inertia of the system about an axis passing through A and parallel to
DB would be :

D I ¢
m | Tm
l e l
m * L
As [ »B
Options :
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864351585.

864351586. V3 mP?

864351587, = Ml

864351588.



Question Number : 12 Question Id : 864351192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 864351193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 25 m long antenna is mounted on an antenna tower. The height of the antenna tower is
75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :

864351589, 200

864351590, 200

864351591, 200

864351592, 100



Question Number : 13 Question Id : 864351193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 864351194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property

of incident electromagnetic radiation :

Options :

864351593, Lrequency

864351504, *mplitude
Intensity

864351595, ensity

864351596, 'hase
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 864351195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Time period of a simple pendulum is T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g/2, the time period of pendulum will be :

Options :

A,
864351597. V3
864351598. 3

3
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Question Number : 15 Question Id : 864351195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 16 Question Id : 864351196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 500 MHz is travelling in vacuum along y-direction.

Ata particular point in space and time, _E; — 80 %1078 :l . The value of electric field at this
point is :

(speed of light=3 x10% ms 1)

Fa

x, i, z are unit vectors along x, y and z directions.
Options :

-
864351601, 4 X V/m

864351602, =0 x V/m

864351603, =+ x V/m

A

y : r i
864351604, -0 Y V/m
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 864351197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting bar of length L is free to slide on two parallel conducting rails as shown in the

figure
| - ]
7.+
(h 3
- X 8
R'l < E} P Rz
g S
| x |
|

Two resistors R, and R, are connected across the ends of the rails. There is a uniform magnetic

field E pointing into the page. An external agent pulls the bar to the left at a constant
speed ©.

The correct statement about the directions of induced currents [, and L, flowing through
R, and R, respectively is :

Options :

[, is in anticlockwise direction and I, is in clockwise direction
864351605. =



864351606, It is in clockwise direction and I2 is in anticlockwise direclion

264351607, Both It and I2 are in anticlockwise direction

864351608, Dot 11 and I are in clockwise direction
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HZnQ 3Rc0ATOHOZ ATE IRWOIT TOTY e T LT ToETT mTTRpom JEgogmon

[ ]
] —

S & S B = E
Ry < : E’,;f;‘Rz
1 x x|
[ ]

TENY DDONY @ R D), R, 20 Seemnvd, Hoxeracend. ¢ I0exn 500332

B oo Zov0% 331 Seonm, BR0BE. A3 Ser, v BOUNT HIF) w0 B, IR,
R, 3 R,3Q IHa0N SocwIts Ze08 Tmaned [, & nY Se0, Zowopasod
B9RS olges Fews TO ?
Options :
cei3s1gos. I OTTTEODTONGY, b L I@grdeodmoN

TEecdeohmnd, BB 1, wTTIdeodTNS
264351606, 1 TOEECORTND W) [, vTTFedeodNT

2 |, o0rde eTmgrdeobmonad
864351607. =2 b

e T &) - m o [ Rp— l'.
864351608. L @z I, o qﬁiﬁﬁmmﬁ:ﬁ

Question Number : 18 Question Id : 864351198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The pressure acting on a submarine is 3 x 10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure ac'r:ing on the submarine would be :

(Assume that atmospheric pressure is 1 X 10° Pa density of water is 10° kg m s =10 ms =

Options :
5 (47
864351609, UV
200,
864351610, °
200,

864351611. =

864351612.

Question Number : 18 Question Id : 864351198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Question Number : 19 Question Id : 864351199 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A conducting wire of length ‘I, area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between its ends,

cau sing an electric current.

If the length of the wire of the same material is doubled and the area of cross-section is
halved, the resultant current would be :

Options :

864351613.

864351614.

864351615.

864351616. pl
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Question Number : 20 Question Id : 864351200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One main scale division of a vernier callipers is ‘a’ cm and nth division of the vernier scale

coincide with (n— 1_‘]“‘ division of the main scale. The least count of the callipers in mm is :
(n-1)
10n )2
864351617~
10 na

(n—1)

Options :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 864351201 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=38 (),
L=24 mH and C=60 pF. The value of power dissipated at resonant condition is ‘x” kW.

The value of x to the nearest integer is _
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 864351202 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a [rame that is made up of two thin massless rods AB and AC as shown in the

I igure. A vertical force P of magnitude 100 N is applied at pni_nt A of the frame.

SuppDSD the force is 1_"; resolved paraﬂel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xN.

The value of x, to the nearest integer, is
|Given :  sin(35%)=0.573, cos(35%)=0.819
sin(110°)=0.939, cos(110%)= —0.342 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351202 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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@2 sin(35%) =0.573, cos(35%)=0.819

sin(110°%)=0.939, cos(110°)= —0.342 |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 864351203 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The first three spectral lines of H-atom in the Balmer series are given A, A,, A, considering the

Bohr atomic model, the wave lengths of first and third spectral lines [i—TJ are related by a
3

factor of approximately ‘x* x10 1,

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 864351203 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351204 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as
shown in the figure is x x 10 I watt.
Rg=35 (1

|'|'.'| A A

Y AR l

=15V L\ = RL—‘S‘G 9]

|'||'.'i'-'|

22V

L 3
(]

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 24 Question Id : 864351204 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351205 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A ball of mass 10 kg moving with a velocity IID\E m s~ ! along X-axis, hits another ball of
mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with

respect to Lthe X-axis.
The configuration of pieces after collision is shown in the figure.

The value of 8§ to the nearest integer is

After Collision

A‘f

P W axis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351205 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351206 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk of radius 0.2 m. It is pin supported at its center and
is al rest hliﬁaﬂ}-’. The disk is acted upon b}; a constant force F=20 N T_h_rDLIgh a massless

string wrapped around its plr_-riphlr_-r':i,r as shown in the figm:e.

F=20N

Suppose the disk makes n number of revolutions to attain an angular speed of 50 rad s~ L,

The value of n, to the nearest integer, is
|Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351206 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351207 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if input A and B are 0 to 1 respectively, the output at
Y would be ‘¥’

The value of x is
i D07

B e—{>0 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

B




Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 864351207 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 864351208 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 k{1 resistor is ‘x" mA.

3 k0
5 III'-'J".-'F".".".'
2 kil 3 k()

|‘| A A 'u 'll A
ay, i

3 k()
lll'ﬂ'rl'rlﬂl'-'l.lf

II
21V, 1kQ

The value of x to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 864351208 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351209 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was produced for two slits separated by 1 mm apart. The screen is

placed 10 m away. The wavr_-lengm of tht used is ‘¥’ nm.

The value of ‘2" to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 29 Question Id : 864351209 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I mm ©03TTYWSD QTR FORMEL 6 mm SNOT TLNFW CLNTRA. EGC’JOEFL‘% 10 m
ORT QOAT. TodRMNAT U¥ET 2CCoMeo3TE ‘x nm SAG.
®3TT TWRTUFOEDY ¥ © Sodn

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351210 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance R = i , wWhere V=(50%+2)V and I=(20£0.2)A. The percentage error in R is
I
x %

The value of ‘x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351210 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

et R=—, 3@ V=(50+£2)VadD [=(20=02)A. RITQY Jesmomed ey x° %.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Chemistry Section A

Section Id : 86435115
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435115
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A: The H- O H bond angle in water molecule is 104.5%

Reason R : The lone pair - lone pair repulsion of electrons is higher than the bond pair

- bond pair repulsion.
In the light of the above statements, choose the correct answer from the options given
below -
Options :
864351631, Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A
864351632.

864351633 A is true but R is false

864351634, 18 false but R is true

Question Number : 31 Question Id : 864351211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 32 Question Id : 864351212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i) HNO, synthesis
(b) Ostwald's process (i) Aluminium extraction
() Contact process (iii) INH, synthesis
(d) Hall-Heroult process (iv) H550; synthesis

Choose the correct answer from the options given below :
Options :

864351635, @H(IV), (B)-(D), (c)-(ii), (d)-(iii)

864351636, (@)(iL), (D)-(1), (c)-(iv), (d)-(ii)

sea3s1637. @), ()G, (O)-(iv), (d)-()

s6a35163g. (D), (b)-(iv), (c}-(1), (d)-(ii)



Question Number : 32 Question Id : 864351212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wi - 10 803 Ty - 11, Beely

=g - 1 =l - 11
Ml JGREnes LY=RE
a) TeWT LTI (i) HNO,3Zci®b3
(b) LATRS DTS (i) ©ORIODHT EBTE (WIFTeR)
(c) ToOWRF QT (i) NH,Zci03
d) HCF-BO, AT (iv) HS50, 3035008

gon Leaos eoﬂ%n@-g Hoolmd wiﬁﬁ?ﬂi =03 :

Options :
864351635, @)F(1v), (b)~(1), (c)-(i), (d)-(iii)

sens1ezg. @), B)(0), (©-i), (d)-(i)
s6435 1637, @~ (i), (0)-(iid), (O)iv), (d)-(i)

264351638, (@)-(Hi), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 33 Question Id : 864351213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A group 15 element, which is a metal and forms a hydride with strongest reducing power
among group 15 hydrides. The element is :

Options :
864351639, Bi

864351640. E

864351641, 28

864351642. S



Question Number : 33 Question Id : 864351213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

864351639, DI

864351640. s

As
864351641.

864351642, P

Question Number : 34 Question Id : 864351214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

864351643, 1IN

Roasting
864351644.

864351645, omelting

Leaching
864351646.

Question Number : 34 Question Id : 864351214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Slaleslat=loln] Nbdm gemrBad (Frmaa) aham

Options :

864351643. @

864351644.



864351645, NOVALT

FOOH
864351646, =

Question Number : 35 Question Id : 864351215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1:  H,O, can act as both oxidising and reducing agent in basic medium.
Statement Il : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.
In the light of the above statements, choose the correct answer from the options given
below :
Options :
Both statement 1 and statement 11 are true
864351647.
864351648, Both statement I and statement Il are false

864351649 Statement 1 is true but statement 11 is false

Statement 1 is false bul statement 11 is true
864351650.

Question Number : 35 Question Id : 864351215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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864351648, AU, ) B
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864351649. wd
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Question Number : 36 Question Id : 864351216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Both CaC’E?_*ErHED and hffgCIfBHzD Lmdergo deh}'dratinn on heat:ing.

Statement Il :  BeO is amphoteric whereas the oxides of other elements in the same group
are acidic.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

264351651 Both statement I and statement 1l are true

264351652 Both statement I and statement 11 are false

864351653 Statement 1 is true but statement 11 is false

864351654 Statement 1 is false but statement 11 is true

Question Number : 36 Question Id : 864351216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

39N QU@ Tewdnva, VBT

Zewd -1: CaCl,6H,0 08 MgCl,8H,0 Q0RETR, To000ATN Q&F Oes0nnewEg.
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BoedT FePINTR, NIDLR, 391 SLLYIT colynvY OCIRT LLITIZ, SOA.

Options :

864351651, P TE -1 0T TeeF - 1l QxRS



Tewd -1 DI Fewd -1 ITNS

864351652.
Zeed -1 50 9n =0 Zeed - 11 3mhT
864351653, =
Zeed -1 2hd =d 2egd -11 30 98
864351654, o

Question Number : 37 Question Id : 864351217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Name of oxo acid Oxidation state of I
(a) Hypophosphorous acid (1) +5
(b) Orthophosphoric acid (i) +4
(c) Hypophosphoric acid (i) +3
(d) Orthophosphorous acid (iv) +2
(v) +1

Choose the correct answer from the options given below :
Options :
364351655, (@k(v), (b)-(iv), (c)-(1i), (d)-(ii)

864351656, @-(1v), (b)-(1), (c)-(id), (d)-(iii)
864351657, (@), (b}(v), (c)-(ii), (d)-(iii)

864351658, (@(V), (O, (c)-(10), (d)-(iid)

Question Number : 37 Question Id : 864351217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(c) %m-fm@;f S (iii) +3
(d) ﬁd@ﬁ?@iﬁ# S (iv) +2

(v) 1

39NT soRNvY FOCIRE YLITH, HOA :
Options :

s6435 1655, (@-(V), (B)-(1v), (0)-(i), (d)-(ii)
seaisiose @), (DG, (€)-(i), (d)-(ii
sea3s1esn @), (D-(v), (O-Gi), (d)-(ii)

264351658, @), (b)-(1), (c)-(ii), (d)-(iii)

Question Number : 38 Question Id : 864351218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statement : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A :  Size of Bk** ion is less than Np** ion.

Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given
below :
Options :
8643516509, Both A and R are true and R is the correct explanation of A

264351660, Both A and R are true but R is not the correct explanation of A

864351661, A is true but R is [alse



864351662 A is false but R is true

Question Number : 38 Question Id : 864351218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 39 Question Id : 864351219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  The E° value for Ce?* /Ce’* is +1.74 V.

Statement 11 : Ce is more stable in Ce?* state than Ce® * state.

In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :

Both statement 1 and statement 11 are correct
864351663.

864351664 Both statement | and statement Il are incorrect

R64351665. Statement | is correct but statement 1l is incorrect

864351666. Statement 1 is incorrect but statement 1l is correct



Question Number : 39 Question Id : 864351219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
39N Q0@ FeedNvm, BN :
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Options :
Zeod-1 D Beod -1l A8 00N
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Question Number : 40 Question Id : 864351220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The type of pollution that gets increased during the day time and in the presence of 03 is
Options :

Reducing smog
864351667.

Oxidising smog,
864351668.

864351669, ~1cid rain

864351670, CloPal warming

Question Number : 40 Question Id : 864351220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TNIT wed, O; o "133@5@ 0% Drom WRIIT ATH) ¢



Options :
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gOST|F Aol DRmmwe
864351668,  © D

g ooty =t
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Question Number : 41 Question Id : 864351221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In chromotography technique, the purification of compound is independent of :
Options :

864351671, Sorubility of the compound

864351672. Mobility or flow of solvent system

Length of the column or TLC plate
864351673.

864351674, Physical state of the pure compound

Question Number : 41 Question Id : 864351221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 42 Question Id : 864351222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among the following, the aromatic compounds are :

(A) <:>_CH2 (B)

&) ®

Choose the correct answer from the following options :
Options :
864351675, /) and (B) only

864351676, () (B) and (C) only

B), (O) and v
sea3s1677, (0 (O and (D) only

(B) and (C) only
864351678. =

Question Number : 42 Question Id : 864351222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SYNTIPYNTY SORBDRET ACCINTN :

(A) —CH, (B)
(©) (D)

O ®
39NT SoRNYY TORT LITBW, SOA.
Options :

864351675, (), (B) =02

864351676, (A (B) =2 (C) =Rg,

864351677. ®). ©) mS_:: (D) Bms

864351678, \B) ™o, (C) =R

Question Number : 43 Question Id : 864351223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is Lindlar catalyst ?
Options :

864351679, Partially deactivated palladised charcoal

864351680, Sodium and Liquid NH,

Cold dilute solution of KnQO 1
864351681.

s6435 168y, Zinc chloride and HCl



Question Number : 43 Question Id : 864351223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FWNIPNTYY iR Domps® soinFFImens 9

Options :
H0ST ATEDNTURNLPATD TORZTE ahen
864351679. B 26, )
ArcRohay I TEUeET NH,
864351680. g
864351681, “MROD BOTRL) EVWES) THER
208 3Re0E w3 HC
864351682. =g a?

Question Number : 44 Question Id : 864351224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H,C Cl

o : a T HT
20% H,PO, CH,); CO—K+ &

-fI'A"’
358 K (Major Product) (Major Product)

# »

The pmducts “A" and “B” formed in above reactions are :

Options :
CH, CH,

864351683.

CH, CH,

864351684.



g

A —

CH, |
- B — \
864351685.
CH, CH,
B = ‘

Question Number : 44 Question Id : 864351224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,C OH H;C cl

EGL}{“‘ HEPD_Q_ :.-Ar.r CH-E K ! ? B‘”
358 K (E:}:E;CI UJ% {%m;u’ \;U-"fj_l}

edw oYY JoiRoedE “A” B “B” Tgwsd wuIFNAW
Options :

864351686.

L|:_'| I f|;:1 I

864351683.

)

—_—

—
)

CH,

864351684.




CH,

CHs
|
A— B —
864351685.

CH;, CHs

N @ N
864351686.

Question Number : 45 Question Id : 864351225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o~
i) DIBAL-H, Toluene, —78°C wpr
ii) H,O™ (Major Product)

The product “P” in the above reaction is :

Options :

CHO

864351687.

Q

|
O—c—H

864351688. |



OH

CHO

864351689.

COOH

ot

864351690.

Question Number : 45 Question Id : 864351225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o~
i) DIBAL-H, mon s —78°C . e
i) H;O+ (TS0 wvEd)

20T 3odhobod TE0D w3, “PTodw ¢

Options :

CHO

:

864351687.



O—C—H
864351688
OH
|iill||'] CHO
864351689,
IIIIIIII COOH
864351690,

Question Number : 46 Question Id : 864351226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity. |

Reason R : Enol form of acetylacetone is stabilized by intramolecular hydrogen bonding,

which is not possible in enol form of acetone.
Choose the correct statement :
Options :
864351691, Poth A and R are true and R is the correct explanation of A

264351692, Both A and R are true but R is not the correct explanation of A

864351693, Vs true but R is false



264351694, A 18 false but R is true

Question Number : 46 Question Id : 864351226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{

39N JITOE A 1), ¥, ®ORY RSN ¢
TIWEI A T CeEn watines [CH,COCH,] atiach < 0.1% T@neng. «ud

YT TAIT LAY walreT [CHyCOCH,OCCH;] ato@mh ©omo
15% TRPETY.

520 R YT TANT LAWT* LAWRT ©oBUrnds JWRRT WoRNToT T3
TRODT. VD YWY TATT LARRTTY MPTROY,

HOCIRT Fewsobmy, SOA

Options :

AT ROLaEmoN® s R{ AN R0CIRT OmCHEORAT
864351691. = =

0 RAxTehs TSR B HOOTRT & 2 3
g6435169p. AT ROmmNE ©TO R AR F00inT QF08 ehy

ACiy A% <S00 RI:AT
864351693, w

864351694, 1 O TENE S0 RY Q&mnd

Question Number : 47 Question Id : 864351227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HCl
273 -278 K

i xl” i AJ’.I‘ 3
I

Major Product

In the above chemical reaction, intermediate “X” and reagent/condition “A” are :

Options :



X- @ ;  A- H,O0/NaOH
864351695.

N,Cl—
X - @ ;  A- H0/A
864351696.
+
N,Cl—
-2 @ ;  A- H,O/NaOH
864351697.

X - @ ; A- H,O/A

Question Number : 47 Question Id : 864351227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

864351698.



NH, OH

NaNO,, HCl
273278 K

M’A..l'.f

£ Klfr‘

£l

s guds
P |

|

oedT goboRg DEJEF “X” I 48 (RROFIL) “A” i :

Options :
NO,
X - @ ; A- HO/NaOH
864351695.
N,Cl-
X - @ i A HQUH’&
864351696.
+
N,CI™
X- @ ; A- H,O/NaOH
864351697.

NO,

X - ;  A- H,0O/A

-

864351698.



Question Number : 48 Question Id : 864351228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction DOES NOT involve Hoffmann bromamide degradation ?

Options :
864351699.
I
CHZ T E‘ T CH; CHE - NHE
i) Bry, NaOH/H™*
i) NHy/ A

r il

iii) LiAlH,/H,0

O
|

O/ Bry, NaOH
864351700.
O
| NH,
Cl
i) NH5, NaOH
ii) Bry, NaOH

CN NH,

i) KOH, H,0
ii) Bry, NaOH
864351702.

Question Number : 48 Question Id : 864351228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
F9NT 3obnyY ol T T NSOy DFedodd ﬁf@i@-@%@&g 9

o’

864351701.

Options :



I

i) Bry, NaOH/H *+
NH;/A

iit) LiAlH,/H,O

864351699.
864351700.
O
[
CH, —C—NH, CH, —NH,
Br,, NaOH O/
NH,
[::::j}fffﬁx&h i) NH;3, NaOH
864351701. ii) Bry, NaOH
) KOH, H,0
ii) Bry, NaOH
864351702.

Question Number : 49 Question Id : 864351229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functions of antihistamine are :
Options :
864351703, Antiallergic and Analgesic

864351704, -Analgesic and antacid

Antacid and antiallergic
864351705.



864351706, ‘\Ntiallergic and antidepressant

Question Number : 49 Question Id : 864351229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B80T 0T TODF

Options :
OEFOR MO8 25o08) B SR LT0

864351703, DOBFT €GT (WNDT AT908) B DR J[0T

:"g AT _l‘\'\ﬁ.\'\_"*?"\}
seazs|p0s SRERD DT sH eBecs

selp 3y =e2Fte
864351705, CORARERT B2 OORFORMRT

HORFORDE D HoLTTS, Vol
864351706. = =

Question Number : 50 Question Id : 864351230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following pairs of Vitamins is stored in our body relatively for longer
duration ?

Options :

864351707, Thiamine and Ascorbic acid

864351708, Vitamin A and Vitamin D

864351700, Lhiamine and Vitamin A

Ascorbic acid and Vitamin D
864351710.

Question Number : 50 Question Id : 864351230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FYNAT QLERTNY aém@ﬁ@g, QITD TR ﬁmﬁ DemaY OegFornl IonTsRATYT ?
Options :



864351707, & 8 = 0 S
864351708, =%

8643517009.

dﬁa FE ﬂm 13: wkienmt D

864351710.

Chemistry Section B
Section Id : 86435116
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435116
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351231 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 gcm

is ~ mol dm 3,

[Atomic masses : K:39.0 u; O :16.0 u; H : 1.0 u]

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 864351231 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. The molarity of the solution



6.50 Brene’ KOH (aq.) 0w 1.89 gem ~ * S&, 50083 dpohd. momed dnesatdoin

B
o mol dm 3, (BiReIT JrToFoI)

[Zo=ooees Godneh 1 K:390uw; O:16.0 u; H: 1.0 u]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351232 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain element crystallises in a bee lattice of unit cell edge length 27A. If the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be . (Round off to the Nearest Integer).

[Assume each lattice point has a single atom]

[Assume 3 =1.73, +/2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351232 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
L0 VB DT FToODIOOE TORT WOITY TLIEEICRNRCE TWOYoH PLiTdRBT

wo T ZASNE. o Hed pde PR wode wIRONYY mwdFeon3 MoI 32
FOBDY FEeE0RTns, [ToQoh FrEdeedn word egsy) ARG L (Rewezm
TRTUFOT)

[THmews Lomand DF LTXREE

3]
&
Ef
O
5
ol
£
O
3
o
S
B

R

['\E —173, 2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 864351233 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When Iight of wavc-lc-ngth 248 nm falls on a metal of threshold energy 3.0 eV, the de—Bmglie

wavelength of emitted electrons is A. (Round off to the Nearest Integer).

[Use : 3 =173, h=6.63x10"* Js
m,=91x10"3 kg ; c=3.0x108 ms~1; 1eV=1.6 x 10~ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351233 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

248 nm 2CONDRTT aﬁ*‘éﬁ.?j_i 3.0eVdezd Liew Gremn hed TONHRAD, DEINBRR0RE
ASRTNY QRN SCONTRTT) _ A. (RneTn BRmeros)

[evzodeena : 3 =173, h=663x10"3]s

m,=9.1x10 3l kg ; c=3.0x 108 ms!:1eV=16x10 I{‘3‘]]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351234 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



For the reaction A(g) — B(g) at 495 K, A,G"= — 9478 k] mol 3

If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the equilibrium mixture is millimoles. (Round off to the Nearest Integer).
[R=8.314 T mol ! K™!; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351234 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A(g) = B(g) sodrmen 495 K 89 A,G°= —9.478 kJ mol ! AT,
495 K3g S0 mommsng 22:008eeo nesmd, Ao §ohohad, $Togatt, Ambdneud
0o Bod T@weesy WOP[eee’ SNE. (INeTT TRETFOB)

[R=8.314 ] mol ' K~ !; In 10=2.303]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 864351235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABP_ is 10% dissociated in water to A2" and B~. The boiling point of a 10.0 molal aqueous
solution of AB, is “C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K;,=0.5 K kg mol ! boiling point of pure water
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 55 Question Id : 864351235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AB,odn deomd A 03 B~ ©h de3d 100x, cleend smdme. 10.08meme’ AB,

©E 7 BT HOHoNE Womw _C. (RdDeTT BRTTVFOT)

[©3 : weds BRCTVEF TP 2oRBe0osy K =0.5 K kg mol 15:% 2e0T WO Vo
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351236 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salls AEK and MX have the same value ol solubilit}r pmduct of 4.0 10712, The ratio of

S (AX)

their molar solubilities i.e. W = . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351236 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A X 33 MX 20w QU oensh wode Qdemze mrond SPOEE®, Brod 4.0x107 1

-
pl -3
L =

5 (AsX)

SAD. Sany SeeoeT adadng sasy ie. W = . (RENeTT Temorow)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 57 Question Id : 864351237 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnO; +bCyOF +cH' — xMnZt + 1y CO» + 2z H50
4 pAT] Y 2 2

[f the above equation is balanced with integer coefficients, the value of ¢ is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 864351237 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOj +bCy07 +cHY — x Mn?* +y CO, + 2z H,0

NeDT FeleTORHW, WREF FOLNY TOFH0TNRCHN AWERIBINRTAT ¢ OB wWRPO®

o o
. (FeReTT DRETIFOT)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351238 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The decomposition of formic acid on gold surface follows first order kinetics. If the rate
constant at 300 K is 1.0x 1072 s~ ! and the activation energy E,=11.488 k] mol I the rate
constant at 200 K is _ x107°s L. (Round off to the Nearest Integer).

S —

(Given : R = 8314 Jmol ! K~ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 864351238 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 OTRTT :’;:fei&j&tg TROFT ST Aol TEah tHF jodmeien wEpgtiod ST,
300 KSQ 3odhod sent pobTeosy) 1L.0x107 3 s~ 1end a3 3odmden (wodess) Jsoin

E,=11488 k] mol ! &nd. 200 K39 [ert Roddswossy x10"2 s~ 1, (Bonezd
TRTFOFOD)

(@2 : R =8314] mol 'K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351239 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of eth}flenc- diamine required to replace the neutral Ligands from the

coordination sphere of the trans-complex of CoCly4NH, is . (Round off to the

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351239 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CoCly-4NH, (3077 -H0seeaF T Meidmol Efgﬁgﬁ &%@fﬁ fﬂ?‘ﬁéﬂﬁ‘ﬁ@?ﬁi m“‘%ﬁ_‘ncébﬁtﬁ EEE.L"‘-D‘:E
ardest %@&aﬁ‘ﬁ@ ASRTE (FXT008) ML T, 7 (FNETT TRTTFOT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 864351240 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 750 g of an organic cmnpnund prcwidr_-s 420 g of CD2 and 210 g of
HZD. The percentage compositi{m of carbon and h}fdr{}gen in nrganic compcrund is 15.3 and

respectively. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351240 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

750 MERT ADONTW ROCWTW, WeFmon ThAten 420 mEr CO, & 210 M,
QT BRTCIFPT. TTORT FOoINFD Jesrmo FockeenSodY BUFT W) B WRHRT

Feomon 153@03 SAD. (FHeReIT TRTFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 86435117
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 86435117
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 864351241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i B ox 8
Let A= [ P }, i = /=1 - Then, the system of linear equations .""Lb|: ] = [ w has :

{ i
Options :
864351721. No solution

A u_nique solubion
864351722.

]-t]j—- ‘t"‘ r i F 80 4 :
864351723, initely many solutions

864351724. Exactly two solutions

Question Number : 61 Question Id : 864351241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| ' i —i o ol 8 , N
i=J—1 amn A= ;.| soT A = | oy | PO DesEE BnesTone Mg -

Options :

864351721, B
864351722, ° “3

864351723.

864351724.

Question Number : 62 Question Id : 864351242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let the functions f: R — R and g : R — R be defined as :

x+2, x<0 | 53 v <1
f(x)=1 . and g(x)=1_ " !

[x, x=0 3x -2, x=1
Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :
864351725, U

864351726, 1

864351727, 2

864351728, 2

Question Number : 62 Question Id : 864351242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fi:R— R3¢ : R — RNFow «udzned :

2, x<0 | 3

x % e |

%3
Jr X)= s X)) = & =
/(%) xl, x =0 E.L@_.E 8(x) 3x -2, x=1 B

ToS00NAT., TeMRWO (g) (x) Q0T AFERE DROOYT REQWME Seootony ﬁosﬁd g

k)
o =,

Options :
864351725, U

864351726, 1

864351727, 2

864351728, 2

Question Number : 63 Question Id : 864351243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1-x z 42
Let P be a plane Ix + my + nz=0 containing the line, 1 -ty T3 If plane P

divides the line segment AB joining points A(—3, —6,1) and B(2, 4, —3) inratiok : 1 then

the value of k is equal to :
Options :
864351729, 2

864351730, 19

864351731, 2

864351732, 4

Question Number : 63 Question Id : 864351243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x _yvrd z432
1 2 3

20w TeSobm, BroOD. PADIomy A(-3, —6,1) W B(2, 4, - 3) 20w oA,

1
P 202 FR3OT BAeBTR I+ my +nz=08A%) S IHIOP

(Se0rT8) kob Bdaio -

Chs

%e0AT ABTesmmalodmm, k:1Tnmeny Qgehad
Options :
864351729, 2

864351730, 15

864351731, 2

864351732, 4

Question Number : 64 Question Id : 864351244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If for a = 0, the feet of perpendiculars from the points A(a, — 2a, 3) and B(0, 4, 5) on the plane
Ix +my +nz=0 are points C(0, —a, —1) and D respectively, then the length of line segment
CDis equal to :

Options :



J31

864351733.

864351734, V6O

864351735. V41

=
864351736. V35

Question Number : 64 Question Id : 864351244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a>0 *&G‘%ﬁ wogmoweh C(0, —a, —1) 3:3;& D oo Loensy Afa, —2a, 3) 333,; B(0,4, 5)
RoT Ix +my+nz=0FDI0EFT ©ownNY TWEROWNATNG. TMIT CD TenDors

Options :
864351733, Vo1

864351734, V6O

864351735, V41

=
864351736. V35

Question Number : 65 Question Id : 864351245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider three observations a, b and c such that b=a t+ c. If the standard deviation of

at2 b+t+2 ct2isd, then which of the following is true ?

Options :

864351737, @ —oka +c)—9d”
- T 2 2

864351738, O o(@ T ) +9d

Y R 2 3
864351739, b-=a”+c~+3d



3_ g2 3. g0
864351740, 0 —o@ et hd

Question Number : 65 Question Id : 864351245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
b=a+c gnyx a, b &3

Y
=L

a+2,b+2c+2n¥ TRTF QWO (SD) o dSTO IPNIJYNYY oI TSN ?

c R0 FTIRTY wFdeeFandal, Fnordncld.
-

Options :
y A T g | 2 2
864351737, 0 —a(@”+c7)—9d
2_nqe2 2 1942
864351738, £ (@) +9d

) e 2 2
864351739, P =a tc +3d

864351740, 0~ @ temHdY)

Question Number : 66 Question Id : 864351246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M M Fa

A Fa My
Let the position vectors of two points P and Q be 3¢ — j + 2k and i + 2 — 4k,

respectively. Let R and S be two points such that the direction ratios of lines PR and Q5 are

(4, —1,2) and ( —2, 1, — 2), respectively. Let lines PR and QS intersect at T. If the

veclor ﬂ is perpendicular to both FIE and a‘é and the length of vector ﬂ '15-\."5 units,

then the modulus of a position vector of A is :
Options :

NG

864351741.

864351742, V171

227

864351743.



864351744.

Va82

Question Number : 66 Question Id : 864351246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3i— )+ 2k DR i+ 2j - 4k N ODIHITWN PR Q Womne MTF FOIRTNSS,
REI"JEI'E‘FSQGEJ AT WY RVOTINY i,ﬁ"iﬁ?ﬁ PR ﬁ’:ﬁi QS @ow desdnen

(4 -1,2)@®dR (2,1, ~2)@0w LT IOINIR, BeoOH. ©eE PRDD QSAH TaY

-
GeDRIB. FOB TA oI PR DR Q5 S0 20BER FOINOR LowmNGY, XOF TA OB
wg |5 SRIWAE. TRad T 10T Ach SRR Hdow :
Options :

5

864351741.

864351742.

864351743.

864351744. ot

Question Number : 67 Question Id : 864351247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A A = A A
Let a vector o 4 B be obtained by rotating the vector /3 ; i by an angle 45” about the
origin in counterclockwise direction in the first quadrant. Then the area of triangle having

verlices («, ), (0, ) and (0, 0) is equal to :

Options :

ba | =

864351745.

864351746, 1



864351747. ~

864351748. V2

Question Number : 67 Question Id : 864351247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£ M . . & . N . . - - " - . .
203 J3i+ g ChE, RORODITY 45° FRETTWOL BRWH0T TRTVTE BRNWNTY
. = g

wT@gremen SNATRN TOI «i + Bj D, Idohond. WSS (a, B), (0, B) =52 (0, 0)

E.Dﬁﬁ%% SIDET LALRFY

864351745.

864351746. 1

864351747. ~

864351748. V2

Question Number : 68 Question Id : 864351248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

(81]55“2"" | {SI}LTL‘\:I :-1.{']

in the interval [0, 7] is equal to :
Options :

864351749, 2

864351750, 3



864351751. 4

864351752, B

Question Number : 68 Question Id : 864351248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{31}55“31 | {31]%31 — 3() QO ﬁ@fﬁdﬁ%[ﬂ, | ©oZTRFTY ATDE WRY (root) N¥ LD,
HDS% -

Options :

[

864351749.

864351750, 3

864351751.

o0

864351752.

Question Number : 69 Question Id : 864351249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card missing. Two cards are drawn randomly and are found to be

spades. The probability that the missing card is not a spade, is :

Options :
7
A7
864351753, ¥25
52

864351754, 867

864351755.

|

864351756.



Question Number : 69 Question Id : 864351249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#

VAN QUMY TRITY LOW QYo FEOD. 8 TBI0T 2 B@FNYE, olRdysmen
al o § o -,

H

gricen e (spade) PRFLOOT. TMTT FIDN BRNLT 2S00 Hel RFF SLOTLD
TOLDWWACORIOIN ¢

Options :

864351753.

864351754, 867

864351755, 20

Ry

864351756.

Question Number : 70 Question Id : 864351250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The range of acR for which the function

- . Y oaf2xY =

flx)=(4a - 3) (x + log.5) + 2(a — 7) cot [;J sSin | ;J, x #2nm, neN has critical points,
is :
Options :

864351757, 117 )

(— = —1]
864351758

[ i# 2\|
3
864351759. -

864351760. (=3, 1)



Question Number : 70 Question Id : 864351250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f i
; ; - Y oo X
x % 2nr, neN soort f(x) = (42 = 3) (x + log,5) + 2(a — 7) cot | ;J sin ;J DOW SH)
WIENTRFEE ROWNTT), BROVT. TOMTT aekT WR,A0NR
Options :

[1, =)
864351757.

(— % —1
864351758
-5
=
864351759, -
864351760, L 1)

Question Number : 71 Question Id : 864351251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f n is the number of irrational terms in the expansion of {3‘-3, | 5}-3.; |, then (n — 1) is divisible
by :

Options :

864351761. -

o' ]

864351762.

2
864351763.

Yy

864351764, *

Question Number : 71 Question Id : 864351251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



: Wiew B0 it . . 2
Nna0LOTR Neddned (2% %) “R0ATLN WOiE SN0l I (ROSINE LD ToLoIAT.
= ’). f 5 B 4 (] & Bl o

ToMBC (n—1) & s {Saa:;:jc‘] :

Options :

864351761. 30

864351762, 8

864351763, °

=1

864351764.

Question Number : 72 Question Id : 864351252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [x] denote greatest integer less than or equal to x. If for neN,

ES 2
l as; 4 ‘)__d a2;+1 is equal to :
j=0 =0
Options :
an—1
864351765. =

864351766, T

]

864351767.

864351768.

Question Number : 72 Question Id : 864351252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[x] po2T ©EBAT Tpmorod =x SNA. neNwmn

Options :

864351765. =

864351766, T

(]

864351767.

864351768, 1

Question Number : 73 Question Id : 864351253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Boolean expression is a tautology ?
Options :
T AL W W
864351769. eAgvipve

864351770, PV (P —q)
864351771. A A P->g

3 A — :
sea351772, PV =P =9

Question Number : 73 Question Id : 864351253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BYNT wRIHT wwdchd clRymd TR

=

Ll
&
&
G
i
i
=2
£l
~d



Options :
l 3 AL W W
8643517609. Prgvipvy

864351770, £~ DV P~ )

A A0
s64351771, VAP =9

sea351772. PAD 2@ =9

Question Number : 74 Question Id : 864351254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k T
o 3] v
- ; 1 P .
Let Sk = than 20+ | 2rfl |- Then i;'!_’:‘ Sk is equal to :
r= \ = : ’

f

Options :

864351773.

864351774. L

864351775.

864351776.

Question Number : 74 Question Id : 864351254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i‘»’.. —I hl’ A i )
= L= -
Options :

e

864351773.



cot =
864351774, \2)
| i
e
864351775 \2)
: L3
864351776, 2 )

Question Number : 75 Question Id : 864351255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {xeR : (x| —3) x +4/=6} is equal to :
Options :

864351777. 1

864351778, 2

864351779,

864351780 2

Question Number : 75 Question Id : 864351255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{xeR: (x| —3) [x +4) =6} Mo QT Nsseodny il Fosd, :

Options :
864351777, 1

864351778. 2

864351779,

864351780, 2

Question Number : 76 Question Id : 864351256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
C :

If for xe l b,

%, j -

{Ingm n—1), n > (,

er—-'

, log,ysinx +log;,cosx = —1 and log,,(sinx + cosx) =

then the value of n is equal to :

Options :
864351781.

864351782, 12

16
864351783.

864351784, 20

Question Number : 76 Question Id : 864351256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

\ 1
Xe [[], %| atRn logssiny +logcosx= —1 2033 log, (sinx + cosx) = E{Ingm n=1), x>0

SO0 nm WUSo :

Options :
864351781.

864351782, 12

864351783. 16

864351784, 2V

Question Number : 77 Question Id : 864351257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 (a1
If y=y(x) is the solution of the differential equation, ::hi t 2ytany = sinx, y[ ? | = (), then
. e

the maximum value of the function y(x) over R is equal to:

Options :



864351785, ©

I»J|n—"

864351786.

864351787. 4

1
864351788, &

Question Number : 77 Question Id : 864351257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- - ) . ) " )
y=y(x) L0220 d_f F2ytany =sinxy Q0L URTOT FRTURT TOTTWNT  ToNR
m

—_—
y| — | = 0 shd. momeamd Ra hed ey, y(x) s nog Do -
- 3 J ol i

Options :
864351785, O

I~J|n—"

864351786.

864351787. ¢

.
864351788, O

Question Number : 78 Question Id : 864351258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The locus of the midpoints of the chord of the circle, 12 y3=25 which is tangent to the

Pl

F

hyperbola, % L - 1 is:

Options :



24 22— 9x2 + 14412 =
864351789, & T¥) - 9x"+ 144y =0

2+ )2 - 9x2 - 162=0
864351790. { Y ) ¥

2y - 92 4 162 =0
864351791. ( ¥) s

864351792, (¥ TY7)7~16x%+9y==0

Question Number : 78 Question Id : 864351258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 2
X - g N ) '
o ﬁ =1 9ITCBOCRFHD TRFTHNWE B 1~ =250 T g, Bombrvegieos
RO TITPY :
Options :
24 y?)2— 9x2 + 144y =0
864351780, (© 1Y) y

2 42— 0x2 — 1642 =0
864351790, ¥ 1Y) 9x J

3

224 2 9v2 4+ 162 =0
864351791. ( y } s

864351792,{"“2 Fy2)Z - 1622+ 9y2=0

Question Number : 79 Question Id : 864351259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the three normals drawn to the parabola, y*>=2x pass through the point (a, 0) a= 0, then

‘a’ must be greater than :
Options :

864351793, 1

864351794.



R | =

864351795.

Bd | =

864351796.

Question Number : 79 Question Id : 864351259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y?=2x Q0% TOTOORIIT TR ©oWNW (a,0), 20200 VODLT FROT Tt BRTT

Options :

864351793. 1

864351794. 1
1
.
864351795, =
1
2
864351796. =

Question Number : 80 Question Id : 864351260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

zi + 11

Let a complex number z, z'= 1, satisty log 4 —]
o= (2| - 1)*)

< 2. Then, the largest value of

V2
z| is equal to _

Options :

(9]

864351797.

o

864351798.

=1

864351799.



864351800, B

Question Number : 80 Question Id : 864351260 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

zix1 SN Doderer R0 zw) log 4
- b

k)
2 i

3 avin i

ﬁ'i'jﬁz' Falalovinil

Options :

(8] ]

864351797.

864351798, ©

fe® |

864351799.

864351800, ©
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Question Number : 81 Question Id : 864351261 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



z — 31

Let z and w be two complex numbers such that w = zZ 2z + 2,

i
‘ =1 and Re (w)
has minimum value. Then, the minimum value of neN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 864351261 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—_ 24+ 1 . o . o . e .

w=z7z -2z +2 Y =1 f:.‘:ﬁ:'%'{; Z “_“5:33; w NYoN «=0BY ROseF ﬁc-‘“ﬁ*?ﬁ.
z a1 :

Re (w) ) #a® 3dohom, deold. TMedd w" DoIRTMY neN SADS nd 3g &3¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351262 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
8
Let f: R — R be a continuous function such that flx) + flx +1)=2, forall xeR. If [; = J:.Ir(.r]d:r
0
2

and I, = Ilf{x}dr , then the value of [, + 21, is equal to _
-1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 82 Question Id : 864351262 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5
fiR > Raow 9287 03I flr) +flx+1)=2, ¥ xeReNd. momad I = [f(x)dx 03
0

3
L= [fx)dxemr [ +2L 8 &6
=1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351263 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

.
If the normal to the curve y(x)= _[{212 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= -5, a > 1, then the value of ja +6b| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351263 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
X
a>1wmn (a b) WoDPIRY, ¥(x)= _[{Etz 15t + 10) dt oo #FPedR 298 coum
0

x+3y=—520W Teln ATPOITZOTT, |atbbl =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 864351264 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
ac” — becosx +ce™

If lim : =2, then a +b+cis equal to
x—0 xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351264 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
ae™ bcosx + ce * %

lim _ =2 snta+b+coR ZSodn
r—) X5y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider an arithmetic series and a geometric series having four initial terms from the set
{11, 8, 21, 16, 26, 32, 4}. If the last terms of these series are the maximum possible four digit

numbers, then the number of common terms in these two series is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 85 Question Id : 864351265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

20T FBPOTT W, MIRRIST JRNYYT BeTY 4TTNFDY, {11, 8, 21, 16, 26, 32, 4} 20U

neg eodd. o 3wdny dndod =Th) 4 wodng nomIs @0 BEC. B QTER
ILEENTYVD TBRT, TBNY .41, FO

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 86 Question Id : 864351266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

30 20 56 2 7 =
Bl / 14 Iﬁ
Let P=] 90 140 112|and A= 1 () I | where w= T and I, be the
120 60 14 0 ~w —wtl B

identity matrix of order 3. If the determinant of the matrix (P IAE-‘—i_; ]2 is aw?, then the

value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



-

. 30 20 56 2 / w”
1+ i3 : ; =
W= ————— SN P=| 90 140 112 =3 A=|-1 -o l| @onie I;o0m0mh
) 120 60 14 0 ~w —wtl

30 Berdod ©IT T [WI BN, (P IAP-1;)

2 5 — Cr 9 -
MEﬂEﬂ NTRFOERN 800 aw =200 ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351267 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[ PR,
Letf: (0, 2) — R be defined as f(x)= 1032{1 | tan[% | 1
4 L ,.-'__,l

n—o I I/

Then, lim 2 [I{;j ' {{E} ooad ,_l'r[lf.l} is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351267 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
f:(0,2) > Raoent® f(x)=1logs| 1 4 tan{iH QO WSTVNATIT,

5 ! 4)’-‘. o (¥
a2 (11 2 ‘

Jim —[,f[—} o R R S
fi—3co T n )/ n)/ J -

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of 3 ¥ 3 matrices A having entries from the set {0, 1, 2, 3} such that the sum

of all the diagonal entries of AAT s 9 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0,1,2,3! Q00 NG NE0Z00T SRE®E 3x3 Jerdoh Amm3dod, AATZ smero3ng
b g

el

Beg 9800, 3x3 Ferdod SRIYF A T waD, FoBobh PHed
=) : ; i :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let ABCD be a square of side of unit length. Let a circle C; centered at A with unit radius is
drawn. Another circle C: which touches CI and the lines AD and AB are tangent to it, is
also drawn. Let a tangent line from the point C to the circle C, meet the side AB at E. If the

length of EB is .u F A3 [, where «, (§ are integers, then a + | is equal to

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 864351269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABCD wo L88ma0 whod snFmehd. A ﬁ’rsed@% 20 BRTT WY, B Gy
232,30, TR #H3 G 8 Gy

LEFInweng. Cuothaded quéﬁﬂﬁﬁ AmEesy) ABohae, Echg nohat. EBo® i

L

g

o+ A3 B, o BN Temerosnsd, ST atp =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d1

Let the curve y=y(x) be the solution of the differential equation, d_i: 2Ax + 1), If the

) . 4
numerical value of area bounded by the curve y=1y(x) and x-axis is 3’ then the value of

y(1) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



di
T2=2(x +1) dow SO Fe8Sod, y=y(x) Sow Tedessod FOTTTNG.  Tgess

y=y(x) 2B x-LF00T STEFT THEIT TEFOY

.4\}@ . r )
3 — Qo AosTy L3900 y(1)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



